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WIS me/l | 0.00300TF 0.00035R 18 - : 0.00035K7# | 0.0003Ki# | 0.00037KH
4 |RBRUZOEY mg/l | 0.0005L4 F - - 0.000054K ik 0.00005# | 0000055 | 0.000055K i
5 |BEVVRUEOEY mg/l | 0.01ELF 0.001 K7k - : 0.001Ki# | 0.001%KH | 0.001Ki =
6 |BEUFEOLEY mg/| 0.01LLF - 5 0.001 0.001 0.001 0.001 5
7 |eERCEOLEY mg/] 0.01LLF - 0.0017K i - - 0.001K7% | 0.00LRM | 0.00147% =
8 |A~moasbED mg/I 0.0254F || 0.002KiH - = 0.002K1% 0.0027K 1% 0.002FK T ~ 0.0027% | 0.0023k7 | 0.002K3 | 0.0027KiH | 0.002K7
9 |dmEHMEER mg/1 0.04LAF - 0.0045K7H = - - - 0.004KR7% | 0.004K7 | 0.004K7H -
10 |74 RO T mg/! 0.01LAF || 0.001F%E 0.001 1 0.001 ¥4 = 0.00 1K = 0.0015kH | 0.001dW | 0.001K% | 0.001%%W | 0.001K7H
11 |EEAREERE R OB EE R mg/! 10T - 0.4 - . = 0.4 0.4 0.4 -
12 |[7yvRRUGEDEYD mg/1 0.8LATF 0.08 17 = = - = 0.08K 17 0.08K 1 0.085K i = -
13 |HRURROZEDIEY mg/1 1.OLATF 0.1k = - - 0. 15K 0.1K7% 0. 1R
14 (MR E mg/l | 0.002LLTF = 0.0002 1 = = - 0.00027 | 0.00025K¥ | 0.00027KH -
15 |14 Fy mg/1 0.06LATF = 0,005 = - 0.005R7 | 0.005%k7 | 0.0055K7H =
16 |prAtzvrmzsieporgoa-lz-vreezsie | mg/l 0.04L4F 0.004R T4 - - 0.0047&7 | 0.004K¥% | 0.004K7H =
I P2=i=0 5 me/l 0.02LLTF = 0.002FK1% - 0.002:R7 | 0.002K | 0.0025Kim -
8 |FrerancFL mg/1 0.01BATF 0.0005 %7 = - - - 0.0005:R7# | 0.00057Ki# | 0.00057 1 =
19 |NyarzFLy mg/! 0.01LLF ~ 0.001 R - - 0.001K¥ | 0.001K%% | 0.001K¥H
20 |~ mg/! 0.01L4TF - 0.001 KT - = - 0.001R%% | 0.001K7 | 0.00LKTH 5
21 |E=EE mg/ 0.6L4F 0.06R i 0.09 0.06 1 0.067 = 0.09 0.06KR1#5 - 0.08 0.08
22 |/ooEREg mg/1 0.028LTF || 0.002K7% 0.0025R:17 o - 0.002K1% 0.0022K 7% - 0.0025k7 | 0.0025%%s | 0.0023k% | 0.002R7% | 0.002K¥H
YR Va=t=bi VIWN mg/1 0.0624F 0.007 0.008 0.006K 1 - 0.0064:1i% = 0.008 0.006FK{H - 0.010 0.010
24 VU oopieg mg/1 0.03L4F || 0.003K% 0.003K7 = - 0.003 K1 = 0.003R i — 0.00374# | 0.0037# | 0.003Kf | 0.003K% | 0.003K¥H
25 |7 mErourss mg/l 0.1LATF 0.01KTi 0.0LA 1 = 0.0 1H = 0.015K T 0.015K1% 0.01K 0.01K1 0.0 0.01K7H
26 |R%ER mg/| 0.01LAF || 0.001K% 0.001 7 - 0.00 11 0.001 A1 0.001K%% | 0.001K%s | 0.001&%E | 0.001K7 | 0.001KH
27 [RRY Az mg/] 0.1LAF 0.01KR T 0.01 - 0.01R 0.01K7H 0.01 0.0 LK - 0.01 0.01
28 |MUIoaERES mg/l 0.03LLF 0.004 0.004 0.0037K T - 0.003K 1 0.004 0.0037R 7 0.005 0.006
29 |TuEVraars mg/1 0.03LLF | 0.003%iH 0.003 7 = - 0.0037 - 0.003 1% - 0.0035k7s | 0.003K% | 0.003K% | 0.003FK% | 0.0035K7H
RV A=k = VN mg/1 0.092LF | 0.0095iH 0.009 7% 0.009K1% 0.009K 1% 0.0095kHs | 0.000%% | 0.0097% | 0.009FK% | 0.009KiH
31 PRAATATER mg/1 0.08LLTF || 0.0085iH 0.0087K77 = - 0.0085k1 = 0.008K:15 0.00857 | 0.008%M | 0.008%K¥ | 0.0085K%H | 0.0085T
32 |ESBRVEO(LEY mg/! LOLLTF 0.03 - - 0.03 0.03 0.03
33 TAI=DARVEDLEY mg/1 0.2LAF 0.02 - - 0.02 0.02 0.02 0.02 0.02
34 |BEEOEOLEY mg/1 0.30F 0.035 175 - 0.03 1% 0.03K 1 0.03{i5
3B |HECEDONEY mg/! LOLLF 0.025R 7 = 0.02K 7 0.02:K1 0.025R 1% -
36 |[FRIVARUEDLEY mg/ 200LLF 4.6 - - 4.6 4.6 4.6
37 =AU ROEDEEY mg/1 0.05LAF - - 0.005 1% - 0.0054K7 | 0.005K7# | 0.005KiH
38 |4 mg/! 20084 3.6 3.2 3.1 5.3 4.3 4.0 5.2 3.4 3.5 3.5 4.4 3.5 5.3 3.1 3.9 4.2 4.8
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41 |REAA s st mg/! 0.200TF - 0.02R1 = - 0.02K:15 0.02K 0.025K 7% -
42 |VxARIV mg/l  §0.00001LLTF 0.000001 %7 | 0.000001K{# | 0.0000011# | 0.000001 i - 0.0000015K3% | 0.000001 A7 | 0.000001 5 | 0.000001 K1 | 0.000001 7
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44 |FEAA L REEMER mg/1 0.0280F 0.0025K 1% - = 0.002RTE | 0.0025K¥%E | 0.002:K7H -
45 | 7=/—)VHE mg/l | 0.005LLTF 0.0005K: 1 0.00057&% | 0.00055K7H | 0.000547H
46 | B (£EHIKE (TOC) D &) mg/1 3T 0.4 0.4 0.4 0.3 0.5 0.5 0.4 0.5 0.3 0.3 0.5 0.4 0.5 0.3 0.4 0.6 0.5
47 |pHIE 5 854 L8650 F 7.4 7.4 7.3 7.4 7.4 7.4 7.4 7.4 7.4 7.3 7.3 7.3 7.4 7.3 7.4 7.4 7.5
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50 |&E B |suTehasH 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5 1 0.5 1 0.5k 1% 0.5 0.5 0.5 0.5K 0.5 0.5 0.5
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Az mg/! — 0.2 0.2 0.2 0.2 0.2 0.2 0.2 0.1 0.2 0.3 0.3 0.3 0.3 0.1 0.2 0.3 0.3
FEIEAICOWTOKEEHEESHIE HE WA e &EE A HE A A ey kg EE e - :
s R HEE R s T, 10% IR & D0 e b o -ﬁiﬁ-%ﬁa‘ﬁ@ LLTER.



